= UEhfofet.
=2 vrepofet,
(3) BC = 4 & °o]-&sto] ho] g otofet,
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(1) /BAH = 60°0| 22
BH = htan60° = V3h
(2) /CAH = 45°0]|2&2
CH = htan45°=h
(3)BC = BH- CHo|E&
4=\3h—h=(V3-1)h

h=4x =2(V3+1)

1
V3-1
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Al 4= a, b, ¢ o] Bl 7, E4tol 4 4 W, ab, be, ca O] B

Fotofet.

> E:

> =g 47

S8 ~

Al %= a, b, ¢ °] Byto] 70]ER

a+b+c
3

La+b+c=21 ------ @)

TS Al 4= a, b, ¢ O] BAto] 40|82
(@-72+®-7>+(c-7)?
3
a’ —14a+49 + b? — 14b + 49 + c® — 14c + 49
3

=17

=4

=4
a>+b2+c?—14(a+b+c)+ 147 =12

a’?+b?>+c2-14(a+b+c)+135=0

a2+ +2=14a+b+c)-135 ..o ©
©9] Ao @& tYste] =9
a4+ b2 +c2=14%x21-135=159 ------ ©

(a+b+c)?=a?>+b*+c?+2(ab+ bc + ca) ° |2 Q), ©°l
ofste]

ab + bc + ca = 141

WAl ab, be, ca &) Bt

ab—H;c—f—ca _ % _ 47 o]},




